TADNZ5|

ISO9001:2015 (€

MA
MAC
MA/MACH}
MAL
MAL/MACLH
1. TANDRFISERSEIFAISO 21287+ A, FieRA IR, oA
2. TANDRFIGHIRE, RERSMES. NASE . 4 BMTEAREEARRENY , Fiteme, @
3. AN E RS , AT E R RIS B 5. NS AT MITER , ERNEREKEH  BTEFE. ;CD‘f
PPRM
ZX
fiTmm LT
SFE
TADN MXH/MXQ
cj2
P - - U
TADN : EhS4FE =8« bR D-Z73 N
25 S B d XS
32 MGP
40 * ALK IM MSQ
50 BT

f mis
H#Z(mm)
EEA =i
TR =5
TRETRE 5~100mm
ERETEE 0.1~1.0MPa
{RIEMIES 1.5MPa
EFREERE -20~80°C
(EFEEDERE 30 ~500mm/s
BEOE G1/8

2-|P92



SHE
tE
sI

SIBfF
SIB

SQ
DNT
SC/SuU
scT
SCHf
sL

DN
DSN
DN/DSNR
MA
MAC
MA/MACH
MAL
MALC
MALMACES
SDA
Q2
TCQ2
ADN
PPRM
X
MHL2
SFE
MXH/MXQ
P
2
cDbu
™
cxs
MGP
MSQ

2-1P93

TADNZ%

ERR-DEBEFSI

SHSE

i mepsiamE

/

O —o

fzux

wS BFR ’ wS BFR
1 BEER 11 €;7:3]
2 M7 FIRET 12 [izz2N
3 S 13 O’
4 TRET 14 sy
5 Bl 15 N
6 RE 16 AV=LEAS
7 Al 17 EER
8 R 18 wa
9 it 19 5
10 O/ 20 It

ISO9001:2015 Ce

f smRY

2XP
e
o= .
G G
WL B+i{T1
A+iTE
Be———é
2XP
G G
W L B+iTi
A+HTE

2XAHBE

TADNZZ% | ®

SHSEL

TEeE
(mm)
20 5-100 51 37 M5X0.8 36 22 M4X0.7 4732 | 17+0.02 6 8
25 5-100 53 39 M5X0.8 40 26 M5X0.8 597 | 22+0.02 6 8
32 5-100 61 44 G1/8 | PT1/8 | NPT1/8 | 475 | 325 | M5X0.8 5792 | 28+0.02 7 10
40 5-100 62 45 | G1/8 | PT1/8 | NPTL/8 55 38 M5X0.8 5'%% | 33£0.02 7 10
50 5-100 65 | 45 | G1/8 | PT1/8 | NPT1/8 | 66 | 465 | M6XL0 6'5? | 42+0.02 | 8 12
63 5-100 69 49 | G1/8 | PT1/8 | NPT1/8 | 783 | 56.5 | M6X1.0 6'9> | 50+0.02 8 12
80 5-100 78 54 G1/8 | PT1/8 | NPTL/8 9 72 M8X1.25 8'9° | 65+0.02 | 10 14
100 5-100 91 67 | G1/8 | PT1/8 | NPTL/8 | 116 89 M10X15 | 1072 | 80£0.02 | 10 14

SE%
PR
SI

SIFfF
SIB

sQ
DNT
SC/suU
SCT
sci
SL

DN
DSN
DN/DSNBf
MA
MAC
MA/MACH
MAL
MALC
MAL/MACLB
SDA
Q2
TCQ2
ADN
PPRM
ZX
MHL2
=7
MXH/MXQ
cJp

cJ2
Cbu
TN

CXS
MGP
MSQ

2-1P94



